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951
986

34,060
34,930

11,600
11,900

ha

m3/

S59
S59

R8
R18

92 ha

2,380

900 m3/

H10
H10

R8
R18

68

ha
(1,200)
1,000

(660)
550 m3/

H15
H15

H27
R22

(127)

131 12
(3,700)
3.400
(1570)

1,490 m3/

H23
H23

R10
R22

164 ha
(7,950)
3,800
(1,800)
1,770 ms3/

(H7
H7

R2)
R8

(1,250)
1,251 ha

(41,300)
38,700

(22,718)
21,550 m3/

S57
S57

R12
R22

(285)
291 ha
(7,300)
6,400
(2,520)
2,210 m3/

H9
H9

R4
R22

166 ha
(2,740)
1,740
(1,170)
780 m3/

H8

H27
R22

117 ha
(4,760)
3,400
(1,930)
1,860 m3/

H13 R2
H13 RS
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273 ha

(5,200) H11 R2
4,900 H1l R8
(1,950)
1,770 ma/
181 ha
H8 R4
‘S‘ggg H8 R12
1,600
1500 "™
57 ha
1,400 H14 R4
300 H14 R12
B
57 ha
(4,800) S51 R2
500 S51 RS
(3,860)
3,180 ¥
i
1,946
2,450
97
o1 H16 H19
513
H17 H26
1,937
1,824
2 H15
1
1,006
3 H15
1
L= 17,601
~ H11 H15
N= 1 H11 H14
N= 2,330
L= 13631
N= 1 H11 H15
N= 1,110
L= 41679
N= H14 H19
N= 2,850
L= 10288
N= 1 H14 H19
N= 810
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L= 10578
N= H15 H19
N= 660
= 6261
= H8 H13
= 650
= 952
= H8 H12
= 2070
= 20870 HO Hi5
Ne 2230 H9 H13
= 8636
= H10 H14
= 910
= 6113
= H15 H19
= 410
22576
L= 13514 m H7 H13
= H8 H13
= 2700
_ 13514
= 20576 M
= ’ H7 H13
Ne 3830
L= 21,068
N= H17 H22
N= 2500
2,194
H18 H21
9,720
15 ha
H8 H23
A= 8500 m2
450
L= 11,958
H24 H31
N= 1
N= 2,800
N= 1 H24 H31
N= 1 H24 H31
R5
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Km2

14
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(A) L= 130 m
(B) L= 47 m
(c) L= 60 m
L= 50 m
) L= 96 m
L= 20 m
-2m 1
-2.5m A= 8,000 13 25
-2.5m L= 145 m
L= 30m
-2.5m ) L= 390 m
1
(A) L= 360 m
B L= 300 m
(A) A= 6,000
L= 155
L= 270 13 17
= 130
L= 30 13 19
L= 92
D ) L= 50
( = 80
-3.0 A= 7900 m2
-15 (A) L= 92 22 31
-15 (B) L= 60
-20 ( L= 65
1
( L= 259 23 26
( L= 748 23 30
( L= 1,155 21 26
A= 700 2
L= 280
L= 140
1
1 18 23
A= 1700 2
= 6600 2
A= 200 2
1
L= 180
L= 714 13 16
L= 80
= 40 14 15
L= 110
A= 5,248 m2
A= 10,262 m2 17 18
26.5
1 27 29
-2.0 A) L= 50
N= 1 29 2
= 1
= 20 m
_ (R4 R8)
B L 80 m
_ 40 m R4 R7
L= 180 m
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= 38 m
L= 182 m
-3m = 76 m R6 R9
= 52 m
1
1 R6 R7
L= 50 m R6 R8
50
1
L= 776 H24 H26 H28
H30 R2
_ 1,200
A= 3,450
! 24 28
1
1
L= 170 m H24 H25 H28
L= 180 m H31 R4
A A= 11900 2
A= 9045 2
(26 27
= 80 m 31)
0 L= 124 m 26 27
= 324401 m2 31 R6
1
L= 790 m
L= 280 m
L= 1,010 m
L= 425 m 20 28 31
L= 127 m
L= 160
L= 20
L= 50
1
L= 72
C) = 70 m
= 150 m H26 H30
F) L= 110 m H31 R3 R6
-35 L= 2,708 m2
A = 40 m
L= 751 m
= 31 m
1 25 28 30
+0 1 31
+0 1
1
A L= 150 m
B L= 60 m
C L= 100 m 26 29 RS
A L= 20 m
| L= 9 m
L= 20 m
i H24 H27
1 H29H31 R2
1
24 25
1 28
-15 A= 11,445 m2 H24 25 H28
-25 A= 16545 m2 R3 R7
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75
81
64
82.0
70

33333

(24 27
30 R5)
24 27
30 R5 R6

25 28 31

29

1

24 28

A=

1
7871
1,200

m2
m2

H24 H28
H24 H28 R6

A=

1
265.0
14,400
10,000

24 28

1
1,657
1,694
2411
1731

425
1,628
335
86

WWwWwwwwww

H28 H31 R3

1

28

1

28

1
1,050
2,850
2,250

w

H28 H31 R3

28

-20
-20

P RRPRRRRRRE

H29 H31
R5
H29 H31 R8

26 27

26 27

26 27

28 31

260

(H23 RS)
H23 R10

150

H24 R8
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L= 210 H26 R2
L= 271 27 30
1 27
L= 1200 R4 RI3
1 27
1 27 29
1 28 30
1 31
1 31
1 31
1 31
1 31
1 31
1 31
1 31
1 R2
1 R2
1 R2
1 R2
1 R2
1 R2
1 R2
A ) 100 m
(00 ) ) 50 m RS R7
A ) 70m
2 ) ) 60 m R$ R
(<30 )( ) 35m
<20 ) )@ 210 m R3 R7
) 1
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110 m

40 m R3 R7

1
19,000
80 m
80 m R3 R7
110 m
460 m

1 29
1 29
1 29
1 30
1 28 29
1 28 30
1 28
1 28 30
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28 29
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1 30
1 27 28
1 27 28
1 27 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
1 28
V= 30,000 24
() L= 20 24
L= 30 29
L= 78 29
L= 119 29
L= 241 26
L= 201 26
L= 156 26 29
L= 295 29 31
L= 121 31
L= 100 31
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L= 86 R2
= 1
L= 120
- 22 H29 R4
= 3
L= 618 27 30
L= 295 27 30
L= 319 R3 R4
L= 98 R3 R4
L= 11
17 22
L= 2344
H23 R3
(1500)
L= 1,519
3018
2e0s e R3-R7
1,646 m 14 16
1087 ™M
14 2
988
6937 m
H16 R
1
19 2
1 ha
14 16
25 ha
30 15
L= 183
A= 10450 2
A= 4400 2 R3 R7
L= 10
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13531 m3 14 23
2516 m3 14 23
7,584 3 H23
4.0 H23 H26
12170 a H29 R2
H13 H15
7200 m3 HI8 H20
1224 m3 H15
10,134 m3 H13 H17
17 ha H15 H17
141 ha H15 H17
04 ha H15 H17
214 ha H13 H16
8 H15 H17
047 ha H15
1482 H20 H24
38,060
50 ha
H24 R3
10 ha
S0ha
80 ha
15,000
30,000
30 ha
R4 R13
90 ha
6,000 ha
85 km2 H26 H30
85 km2 R2 R6
12 km2 H26
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16 t/ H15
252 H15
192 H15
( ) H16
448 H17
235 H17
2t/ H20
216 H20
3 H21
3t/ H25
2 H26
108 H26
10 1 H27
2 H29
:
140
R3
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[N

H31

H14 H22

H23 H26

H27 H29

H30
H30 R2

R1
R2

R1
R2

31 3

R3
R3 R4

R4 R6

R4 R5

R5
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